
ECO-7 No. of Printed Pages : 8 

BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 

June, 2011 ti 
CD 
to 
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ECO-7 : ELEMENTS OF STATISTICS 

Time : 2 hours 	 Maximum Marks : 50 

Note : There are three sections and all are compulsory. 

SECTION - A 

1. 	Fill in the blanks with appropriate word(s) given 
in brackets. 	 5x1=5 

(a) Two dimensional diagram indicates the 
	 (length/area). 

(b) Percentages are units of 	 
(collection/analysis). 

(c) Statistics does not study 	 
(individuals/ aggregates). 

(d) can be determined with the 
help of a histogram. (Median/Mode). 

(e) The 	 is also the 50th percentile. 
(median/mean). 
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2. 	State whether the statements given below are 

True or False. 	 5x1=5 

(a) Statistics are either enumerated or 

estimated, but reasonable standard of 

accuracy must be maintained. 

(b) When figures are estimated/approximated 

to the next significant number, they give rise 

to compensating errors. 

(c) A frequency distribution with one variable 

is called univariate frequency distribution. 

(d) The sum of absolute deviations (i.e. 

deviations ignoring signs) from the median 

is the least. 

(e) Standard deviation is the positive square 

root of the variance. 
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SECTION - B 

Attempt any two of the following. 	 8+7=15 

3. 	(a) Prepare a frequency distribution by 
inclusive method starting with 0 - 4 : 

6 20 37 32 17 22 18 12 16 40 
3 30 38 18 20 8 6 36 30 32 
2 36 6 31 15 18 40 32 26 38 

(b) Distinguish between a histogram and 
historigram. 

4. 	(a) Estimate the value of arithmetic mean using 
the empirical relationship if mode is 30.6 
and median is 28.4. 	 5+10=15 

(b) Calculate the value of mode for the 
following distribution : 

X,midpoint : 30 50 70 90 110 130 150 170 190 
f: 6 9 11 14 20 15 10 8 7 

5. 	(a) Co - efficient of variations of two distributions 
are 60% and 80%, their standard deviations 
are 20 and 16 respectively. What are their 
arithmetic means ? 	 5+10=15 

(b) Calculate Bowley's Co - efficient of skewness 
from the following data : 

Sales No. of 
(Rs. In Lakhs) Companies 

Below 50 8 

50 - 60 12 

60 - 80 20 

80 -100 25 
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SECTION - C 

6. 	Distinguish between any two of the following. 

(a) Census and Sample Investigation. 

(b) Exclusive and Inclusive class Intervals. 

(c) Biased and Unbiased Errors. 

(d) 'Less than' and 'More than' ogives. 

5+5=10 
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